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� 
�5��� �	3�	��	��5�	 
-�>C= 5������� <��
��� <�	
���� �	�	5� �3��9������� 8!�	� �	
	��	
� ���� �����	��	������ 
��
��
��
�������� �������5��� $����
�	� ���	
��� ��������� <��� �9���� �	�	��	������ ��	� 8	�	�� 3����
� ���������
8!���������6� �	�	5�	�� 9������������� 	��	� 	���	�� $�� �3��9������ $����5�;����� PP-i 
��
���5���
$����
�	� �	���	������ -<���
�	�= ve PP-i 
��
������� 5�
�	
� ��;�
��
������ �	5����� 8	�	�� 
���;��
�	<3����53���������$��	;	���3���5��
3�������6� 
 
Anahtar sözcükler: $�������53����������3��<�
��53���8	����!�������������3����3���	� 



�����




������� � ��;�
��
� �	� 5�
�	�	� ���	���	� $����� 3����
� <��
��� �	<3����53�� ������������� 8!��	�	��
���
3	�����
 -3���� ��;�
��
� 
3����������) 5������ $��� ����	�	���6� S��
3	��������	, 5�
� ������� 
�	5����� 8	�	�� �	<3����53���, 5�
��� 
��
����5��� $����
�	 $�� 
������� 8	��� �!�	;	���� 
-	�����
=� �	� ���	�� 
�������� ��	� 
���;�� -���
3�= 3��;����� �<��	� 	��	
�	���6� >�;�
��
� ������5���
$����
�	��$��������
3����������������8!��	��	5	�$�����, �	5�����8	�	���	<3����53����	�����
�
$��	�	��� ������� �	� $�� �	
���	� 
���;�� �	<3����53� 3�����6 �� � �3��5���5��, $������� $����5�;��

���



3����
�
������������	��	
����5����������5�
�	
���;�
��
�
3����������������-5�
�	�
���5�	�$����
�	) 
�	
	��	
� ��� 8�$�� �	<3����53���� �	5����� 8	��	
�	���� -C	��� �	� _���	3�
�� '))%=6� � E��	
�
���5���� 
�������������� �	5����� 8	�	�� 
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	�
��	���	�8��	$��	;	
��	�$	��� ����
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�53�� �������� 5!��	���� ���5��53�� 
�5������� ��	����� 3������ 	�	�:�5�	, $��� ����	�	�	
��
�3�	
��� �	5�� ��3�� 5���������� 	�	
��3������� �	�$	��� ���	� 8	����	��� ���	�����6� ��� ���	��	�
�58������5��53����
���������3���	��	����5��	5��	�9������������5������3���	������	�	�	��������
��5��������, 5�������� 8�$�� �	��3�	
���
� �	� 8	����	� 9����
� ��5������ 8�$�� 5�������
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�PP, �������� 
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3������
 3�3����
�
3���3�� ����	��� ���������
%R()I – /R()I +;�% 53����������� ()� ����� ���	5�	� �53�� ������������� ��$�� �����������6� �53��
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A�����	�� ������	� �	���� 	���	� PP-i 
��
��� �3��<�
��53�� ���	��	��� �9��� !����;�� ��
��	�
5������5�� �<�������� �	� $�� �<������� ���9����� )6P� ��� 	�	
�	�� 8	9����������6 �� (P)+'')�
�	�	����53��� ������ $����� (I) oO75	� �5����� 	���� ��	� (') ��
�
�� ���	5�	� ��������
���� �3����

��������;�5���
�����������6 ���������;��0))��	�+��
�������9������
	��(0���
�
�����	5�	 �3�������	�
8	�����	�� PP-i  
��
�� ����	�	��� <��
��� 3��������� -J(�� J%�� J� 0�� JI�� JH=� $����	� ����	�
	���������6� ����	� ���	��	������ ���������������� �������n 
��������;�� ����� (%))� �	�+��
� �����
5�
�	�������	�	
�P) ��
�
�������
�������������	���	��	����	���������6��53��������� 5!��	��5�	 
PP-i 5��	5�	����	� 3����������� �	�$	��� ����
���	����� �53������� �	� <3�
��53�	�� 8��������� $�����
��	� 
��5����� �	�
��53��� 8���	����� �	� 
���	���� $�������� 3���������� �������
� ���;�5���

��������;����� ������� �3��<�5	� $����� P)� ��
�
�� ���	5�	� (I)oO� ��;�
��
��
�� 	����	�
$	
�	���������6�������	��������������;���$	�	��	�	��
��������$�������	���������5���<3�53���	�

��������� ve 9	������ �	�	5�	��	� 
���������
� ��	�	� $�� �	
���	� ����<���� 	���������6� �	�	5�
��38�������� 
���������� ��<� �	� 9	������ 
��
�� 3���������� ������ $�����	�� �������
�� 8�$��

3���������������@ 

� >�<�$�����– D�E@  
� >�<�$�����ª�(J�PP-i – D�-(-PP-iE@ 
� >�<�$�����ª�%J�PP-i – D�-%-PP-iE@ 
� >�<�$�����ª�0J�PP-i – D�-0-PP-iE@ 
� >�<�$�����ª�IJ�PP-i – D�-I-PP-iE@ 
� >�<�$�����ª�HJ�PP-i – D�-H-PP-iE@ 
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Geleneksel Test Yöntemleri 
>�<� �	� �3��<�5	� $�����	�� ��	����	� 8	�	�	
�	�� �	��� 5!��	��	��� 3����
� ��� �������������
5�������� �3
������ �	�	����53� �	� ��
�����	� �	�	5�	��� 8	�9	
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$����5�;������� <���
�	�� !�	���
�	��� ��

����� 9	������ $��8��	�� 	��	� 	���������6� 2	�	����53�� �	�
5�������� �3
����� �	�	��	��� 
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� �	�� $��� $����5�;�5�� ���� �	�	����53�� ���	
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Dinamik Kayma Reometresi (DSR) Deneyi 
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